

AVAILABLE FROM DC



CHAN'S YUM CHA

Bringing an authentic DIM SUM experience to your home.



SERIOUSLY TASTY

Having a small get together or a large party, treat your guests to finger food that is both impressive and delicious with our dim sum range.

Chan's Yum Cha at Home is also perfect for a quick family meal for dinner or lunch. People of all ages love the bite size flavours of our delicious dim sum.









Chan's YUM CHA at Home RANGE

dallasinternational

20% OFF – Wholesale Price - INTRODUCTORY OFFER

ORDER FORM page 3



























20% OFF – INTRODUCTORY OFFER



(off wholesale price)

Receive 20% OFF – Wholesale Price on your first Order

NOW AVAILABLE FROM DC

Exclusive to the Independents

TIR ID	PRODUCT	APN	UNITS PER CTN	GST Y/N	UNIT COST (EX GST)	CARTON COST (EX GST)	RRP	GP	INTRODUCTORY UNIT COST (EX GST)	INTRODUCTORY CARTON COST (EX GST)
297246	CHANS YUM CHA HARGOW PRAWN 12PK 300g	9355683000009	6	Υ	\$5.73	\$34.39	\$8.95	30%	\$4.59	\$27.51
297254	CHANS YUM CHA HARGOW JUMBO PRAWN 8PK 320g	9355683000016	6	Υ	\$5.73	\$34.39	\$8.95	30%	\$4.59	\$27.51
605114	CHANS YUM CHA DUMPLING PRAWN & GINGER 8PK 240g	9355683000023	6	Υ	\$5.73	\$34.39	\$8.95	30%	\$4.59	\$27.51
605122	CHANS YUM CHA DUMPLING VEG & SHIITAKE 8PK 320g	9355683000030	6	Υ	\$5.73	\$34.39	\$8.95	30%	\$4.59	\$27.51
605229	CHANS YUM CHA DUMPLING SCALLOP & PRAWN 8PK 240g	9355683000047	6	Υ	\$5.73	\$34.39	\$8.95	30%	\$4.59	\$27.51
605237	CHANS YUM CHA DUMPLING PRAWN & SPINACH 8PK 200g	9355683000054	6	Υ	\$5.73	\$34.39	\$8.95	30%	\$4.59	\$27.51
605245	CHANS YUM CHA DUMPLING GLUTINOUS RICE 6PK 480g	9355683000061	6	Υ	\$9.30	\$55.77	\$14.50	30%	\$7.44	\$44.62
605253	CHANS YUM CHA SHAO MAI SEAFOOD 8PK 320g	9355683000078	6	Υ	\$5.73	\$34.39	\$8.95	30%	\$4.59	\$27.51
605261	CHANS YUM CHA DIM SUM SELECTION 8PK 230g	9355683000085	6	Υ	\$5.73	\$34.39	\$8.95	30%	\$4.59	\$27.51
605288	CHANS YUM CHA WONTON PRAWN & CHIVE 12PK 240g	9355683000092	6	Υ	\$5.73	\$34.39	\$8.95	30%	\$4.59	\$27.51
605368	CHANS YUM CHA DIM SIM CHICKEN 16PK 480g	9355683002850	6	Υ	\$10.96	\$65.74	\$17.20	30%	\$8.77	\$52.59
605376	CHANS YUM CHA DIM SIM PORK 16PK 480g	9355683002867	6	Υ	\$10.96	\$65.74	\$17.20	30%	\$8.77	\$52.59

^{*} Excludes Service Fee & Transport

